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When you see this for the first time, it can
seem very tricky. Please note that the
exponent only applies to variable (r).
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A negative exponent is equal to the
inverse of the sume base with a positive
exponent. So 1’ = —

Now we can put the pieces together:
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According to the Zero Power of Exponents,
any raised to the power of 0 (zero) is equal
to 1.

162,839 =1

Let’s start by making sense of the
denominator: 25”

This tells us that we must divide by 25 two
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Restate the problem with the simplified
denominator:
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625

We can now take the reciprocal of the
fraction because one over one indicates

that. The reciprocal ofL = 625.
625

1 Tons of Free Math Worksheets at: © www.mathworksheetsland.com




